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5.3 Area of any Triangle G.SRT.9H
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Find the area of each triangle to the nearest tenth. Show all your work!

1)  

7 mi 6 mi
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71°

2)  
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3)  

6 km

15 km

KH

P

96°

4)  

8 cm
9 cm

H

PK

20°

Find the area of each triangle to the nearest tenth.

5)  In DEF, f = 4 ft,  e = 12 ft,  Dm  = 97° 6)  In QRP, p = 8.4 yd,  r = 7 yd,  Qm  = 24°



©L v2D0b1l9E OKIugthaH PSOoEfTtMwuaor[el hL[LFCD.J e OAglblm BrMibgRhFt\sd TrreBshe^rWvZezdW.Y N YMEamdCeb nwqiRtDhF pIRndfhiZn^iJtdek RASlXg^e\burFaN s2b.

Worksheet by Kuta Software LLC

-2-

7)  In CAB, Cm  = 100°,  b = 7 yd,  a = 14 yd 8)  In RPQ, q = 8 ft,  Rm  = 40°,  p = 12 ft

9)  In STR, Sm  = 109°,  t = 16 cm,  r = 8 cm 10)  In STR, r = 4 yd,  t = 5 yd,  Sm  = 75°

11)  A surveyor wants to mark off a triangular parcel with an area of 1 acre (1 acre is equal to 43,560
square feet).  One side of the triangle extends 220 feet along a straight road. A second side extends at
an angle of 75 degrees from one end of the first side.  How long should the second side be? (hint: 
draw a picture)
 
 
 
 
 
 
b.  How long should the second side be if the triangular parcel has an area of 0.5 acres?



©H E2W0U1V9] ZKAu[tLaq CSPoQfqtmwyawrQeV rLPL[Cu.J i MAYlWlO KrZiSgohptksm kryewseeorUvWedda.F q XMWaDdueG bwiiQtKhB rIenYf_iVnpi_tve[ sA[lFgJeJbPrIaW b2o.

Worksheet by Kuta Software LLC

-3-

12)  An alien made a crop triangle.  The area of the crop triangle is 128 square miles.  One angle is 76°. 
One side coming off this angle is 24 miles.  Find the other side that comes off the anlge.  (hint:draw a
picture)

Find the value of the trig function indicated.  Leave as a ratio in simplest form.

13)  csc q

4 10
12

4

q

14)  tan q

10

6

8

q

Find the value of each.  Round your answers to the nearest ten-thousandth.

15)  sin 54° 16)  cot 5°

Solve each equation by factoring.

17)  a2 - a = 12 18)  p2 = 3p


